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2010 R R ITE i #E-CROWSI IR EFTIE - 421 (8/23 R E D 1=6) XITEHE184

£ HiI F—L% FE | T8 | RIT | TR | BE |RET| #7TF |HEX
% H CROWS 73 61 21 13 11 0 344 | 452
it CROWS 73 60 18 8 7 0 300 | 425
7 %4 CROWS 70 53 16 7 14 0 302 | 471
s CROWS 70 50 10 6 13 0 200 | 429
B E CROWS 62 50 16 13 3 1 320 | 452
it % CROWS 62 53 14 12 2 0 264 | 371
Z H CROWS 43 39 10 7 5 0 256 | .326
t # CROWS 40 35 11 9 2 0 314 | 400
= R CROWS 25 18 4 2 2 0 222 | 440
ok CROWS 23 19 5 4 0 0 263 | .391
% R CROWS 22 18 0 1 0 0 000 | .182
BARGE) CROWS 18 13 6 2 7 0 462 | 611
£ IR CROWS 11 10 3 2 0 0 300 | .364
BXR(E) CROWS 7 7 2 1 0 0 286 | .286
A O CROWS 5 4 0 1 0 0 000 | .200
= H CROWS 3 3 1 0 0 0 333 | 333
7a H CROWS 2 1 0 0 0 0 000 | .500
& K CROWS 1 0 0 1 0 0 - | 1.000
F— LGt 610 | 494 | 137 89 66 1 277 | 415




2010 FE R IRITERIE - KFCTZ oI RATHTEITRE 1 401 (8/23F B D 1=8) XITREEUIE304

£ HiI F—L% FE | T8 | RIT | TR | BE |RET| #7TF |HEX
 H KFC 58 51 17 2 6 0 333 | 414
X & KFC 54 50 18 7 7 0 360 | .407
E M KFC 53 45 9 5 0 0 200 | .321
£ K KFC 48 41 14 13 6 0 341 | 438
fx H KFC 47 39 13 5 4 0 333 | .447
X HT KFC 41 33 10 7 1 0 303 | .439
N KFC 37 32 5 4 1 0 156 | .270
/NI KFC 23 20 4 2 5 0 200 | .304
AW KFC 21 16 2 0 0 0 125 | .333
—IR KFC 19 18 3 1 2 0 167 | 211
F KFC 15 14 1 1 1 0 071 | 133
& K KFC 12 10 3 0 1 0 300 | 417
Fl KFC 11 10 0 1 0 0 .000 | .091
K ¥ KFC 9 8 2 3 0 0 250 | .333
71 il KFC 9 9 1 1 0 0 A1 A1
= K KFC 8 8 2 0 0 0 250 | .250
B Lt KFC 7 7 1 0 0 0 143 | 143
(s KFC 6 4 1 1 0 0 250 | .500
¥ # KFC 5 4 1 0 0 0 250 | .400
2 H KFC 5 5 1 1 0 0 200 | .200
& A KFC 5 5 0 0 0 0 .000 | .000
E K KFC 4 4 2 1 1 0 500 | .500
# K KFC 4 4 1 0 0 0 250 | .250
E 2 KFC 3 3 1 1 0 0 333 | .333
R A KFC 3 2 0 0 1 0 000 | .333
4 @ KFC 2 2 1 0 0 0 500 | .500
& 0 KFC 2 2 0 0 0 0 .000 | .000
2 H KFC 1 1 1 1 1 0 1.000 | 1.000
E KFC 1 1 1 3 0 0 1.000 | 1.000
#F Lt KFC 1 1 0 0 0 0 .000 | .000

F—LEt 514 | 449 | 115 60 37 0 256 | .350




2010 FE R IRITERIE-NIBYSITTIREFTE 461 XITHEHIE174

£ HiI F—L% FE | T8 | RIT | TR | BE |RET| #7TF |HEX
X B NJB 63 55 12 6 2 0 218 | 317
Al H NJB 63 47 10 2 3 0 213 | 413
& H NJB 63 51 6 1 10 0 118 | .286
LE(R) NJB 60 54 7 3 4 0 130 | 217
i = NJB 55 47 9 5 1 0 191 | .309
L% (48) NJB 43 36 5 4 0 0 139 | 279
/NI NJB 37 35 6 2 1 0 171 | 216
® F NJB 32 29 10 4 0 0 345 | 406
+ A NJB 31 25 2 1 0 0 080 | .258
B OH NJB 25 23 5 3 0 0 217 | 280
B & NJB 18 14 3 1 0 0 214 | 389
O NJB 16 14 3 0 1 0 214 | 313
FE NJB 12 10 1 0 2 0 100 | .250
| NJB 12 10 1 0 0 0 100 | .250
Rl NJB 7 6 0 1 0 0 000 | .143
hoR NJB 4 4 1 0 0 0 250 | .250
©ES NJB 1 0 0 0 0 0 - 1.000
F— L5t 542 | 460 81 33 24 0 176 | .301




2010 REITEHIE -Red s FRTEITRE 421 (9/13REHEDT-8) XITEHE174

£ HiI F—L4 FE | T8 | RIT | TR | BE |RET| #7TF |HEX
& IR Red’s 70 49 13 8 4 0 265 | .486
nm g Red’s 62 57 14 9 16 0 246 | .306
2 W Red'’s 57 43 8 6 4 0 186 | .386
£ H Red’s 57 47 8 2 3 0 170 | 316
g A Red's 55 47 13 8 13 0 277 | .382
= Red’s 54 39 9 7 10 0 231 | 444
S Red’s 49 39 7 6 2 0 179 | .347
I Red’s 48 41 8 3 4 0 195 | 313
% E Red’s 40 32 7 2 4 0 219 | 375
A OE Red's 29 26 7 5 9 0 269 | .345
A TR Red'’s 29 18 3 1 8 0 167 | .483
A Red’s 14 14 3 2 1 0 214 | 214
X W Red’s 11 9 1 2 1 0 A11 | 273
52N Red’s 3 3 0 0 0 0 .000 | .000
G Red'’s 2 2 1 0 0 0 500 | .500

| R Red's 2 2 0 0 0 0 .000 | .000
xk I Red's 2 2 0 0 0 0 .000 | .000
F—LEt 584 | 470 | 102 61 79 0 217 | 370




2010 R #2 4T 2 AU#E - Respect Osakal FATEITE 1421 (8/2 BB DT1-8) XITFERUIR224

£ HiI F—L% FE | T8 | RIT | TR | BE |RET| #7TF |HEX
H B Respect 50 43 14 6 1 0 326 | 420
% IR Respect 48 42 10 4 3 0 238 | 333
= Respect 47 37 7 5 2 0 189 | .362
g Ji Respect 38 34 7 6 2 0 206 | .289
N = Respect 38 25 5 2 15 0 200 | 474
@ 15 Respect 33 28 5 3 0 0 179 | .303
R Respect 32 28 3 3 2 0 107 | 219
X F Respect 30 27 7 4 2 0 259 | .333
xE (&) Respect 29 26 8 4 0 0 308 | .379
B W Respect 27 26 8 9 1 0 308 | 333
L # Respect 25 20 1 0 1 0 050 | .240
EFH (BU Respect 23 19 5 3 2 0 263 | .391
IN 7 Respect 23 18 1 1 4 0 056 | .261
EFH (R Respect 16 14 3 1 1 0 214 | 313
" R Respect 16 15 2 1 1 0 133 | .188
% iR Respect 13 11 4 3 4 0 364 | 462
a0 Respect 13 9 2 0 2 0 222 | 462
£ Respect 10 6 1 0 0 0 167 500
a5 Respect 9 7 2 0 1 0 286 | .444
IR (BE) Respect 8 8 1 0 0 0 125 | 125
XE(GE) Respect 2 1 0 0 0 0 .000 | .500
Wl Respect 1 1 0 0 0 0 000 | .000

F— LGt 531 | 445 96 55 44 0 216 | .343




2010 SRR T AlLfE - team Netz[ FRTEFTE 144 XITREHE224

£ HiI F—L% FE | T8 | RIT | TR | BE |RET| #7TF |HEX
X # Netz 76 67 13 10 6 1 194 [ 289
& % Netz 66 49 14 8 5 0 286 | .470
B Netz 60 44 16 13 3 0 364 | 533
B Netz 51 38 6 1 5 0 158 | .373
E K Netz 50 42 14 14 2 1 333 | .440
N3 Netz 42 37 7 1 3 0 189 | .286
g O Netz 38 34 9 9 1 1 265 | .342
Rt Netz 37 27 8 5 1 0 296 | .486
f H Netz 34 30 3 2 3 0 100 | .206
i Netz 29 26 7 3 0 0 269 | .345
* H Netz 26 24 4 1 1 0 167 | .231
/NI Netz 23 18 7 3 1 0 389 | 522
T # Netz 23 17 3 3 2 0 176 | .391
& | Netz 19 19 3 1 2 0 158 | .158
w F Netz 17 15 3 1 2 0 200 | .294
oI Netz 11 8 3 1 4 0 375 | 545
Fq Netz 10 7 2 0 0 0 286 | .500
B\ M Netz 7 7 2 0 0 0 286 | .286
B K Netz 7 4 1 4 2 1 250 | 571
hoig Netz 6 5 1 2 0 0 200 | .333
Bl Netz 4 3 0 0 0 0 000 | .250
AR Netz 3 2 1 0 0 0 500 | .667
F—LEt 639 | 523 | 127 82 43 4 243 | .380




2010 RITEH#E - TOYOTA HK BROTHERST3R5E$TE 46| XITHEHE224

£ HiI F—L% FE | T8 | RIT | TR | BE |RET| #7TF |HEX
F HK 83 69 23 12 18 2 333 | 446
N HK 77 64 22 12 11 0 344 | 455
7 i HK 76 66 23 17 7 2 348 | 434
* HK 74 63 20 16 6 1 317 | 419
it HK 61 50 13 6 3 0 260 | .393
i HK 56 46 12 8 8 0 261 | .393
W T HK 51 45 10 3 2 0 222 | 314
B L HK 49 44 10 12 1 0 227 | .306
LT (&) HK 48 43 8 8 0 0 186 | 271
&g HK 39 29 5 4 0 0 172 | 385
ARHE HK 29 16 3 2 2 0 188 | 552
R O% HK 14 9 4 1 2 0 444 | 643
m e HK 12 11 2 2 0 0 182 | .250
oA HK 10 9 5 5 1 1 556 | .600
T % HK 7 6 2 2 0 0 333 | 429
RKARZR HK 5 5 2 0 1 0 400 | .400
M HK 3 3 2 0 0 0 667 | .667
F oA HK 3 3 1 0 0 0 333 | .333
IR HK 3 3 1 0 0 0 333 | .333
B X HK 3 3 0 0 0 0 000 | .000
1T~ HK 3 2 0 0 0 0 000 | .333
fE HK 2 2 0 0 0 0 000 | .000
F— LGt 708 | 591 168 | 110 62 6 284 | 403




2010F SRARITEAIE - KEIRA T ATIREFTRE 1461 XITERE254

£ HiI F—L% FE | T8 | RIT | TR | BE |RET| #7TF |HEX
N FT7IR 58 41 12 6 12 0 293 | 500
& H TTIR 51 47 12 4 1 0 255 | 314
/NIE S FF7IR 51 46 11 6 1 0 239 | 314
K FF7LR 46 31 5 7 3 0 161 | 435
® FF7LR 44 39 9 6 0 0 231 | 318
X B FF7LR 40 36 8 4 6 0 222 | .300
% B FT7IR 36 26 6 2 1 0 231 | 444
SR e TTIR 35 29 14 8 16 0 483 | 571
O FT7IR 35 30 2 1 0 0 067 | .200
23N A7 R 31 28 13 6 3 0 464 | 516
X # FF7LR 25 23 0 2 0 0 .000 | .080
X B ATIR 24 19 2 2 1 0 105 | 292
= M FF7LR 23 19 3 1 2 0 158 | .304
INEFH TTIR 22 20 7 4 0 0 350 | .409
X H FT7IR 22 18 3 2 0 0 167 | .318
% H FF7LR 19 15 4 1 2 0 267 | 421
i FT7IR 19 15 3 2 2 0 200 | .368
oA FT7IR 15 11 3 1 1 0 273 | .467
& FTF7IR 12 9 0 0 0 0 000 | .250
A& 0O ATIR 8 6 3 0 1 0 500 | .625
izl FT7IR 6 4 1 1 4 0 250 | .500
Ok A7 R 5 5 3 0 0 0 600 | .600
7 H ATTIR 3 3 0 0 0 0 .000 | .000
B ATTIR 2 2 0 0 0 0 .000 | .000
X & FT7IR 1 0 0 0 0 0 - 1.000
F—LEt 633 | 522 | 124 66 56 0 238 | 371




2010 FE RIRITEME - KIR/\TRTIREITE 441 XITHEHIE184

£ HiI F—L% FE | T8 | RIT | TR | BE |RET| #7TF |HEX
EF NUTR 84 69 28 13 9 0 406 | 512
HH(XK) NUTR 77 60 15 7 3 2 250 | 416
it % VTR 72 62 21 16 7 2 339 | 431
hE INVTR 64 54 10 10 6 0 185 | 313
= H G VTR 59 56 19 7 10 0 339 | 373
£ H VTR 50 46 14 10 8 0 304 | .360
it B NUTR 49 40 12 10 2 0 300 | .429
i & VTR 37 30 4 3 4 0 133 | 297
% H NUTR 34 31 8 2 2 0 258 | .324
W O NUTR 32 27 7 1 1 1 259 | 375
N R NUTR 23 22 7 3 0 0 318 | .348
BIL(=) VTR 23 20 5 2 0 0 250 | .348
E & INVTR 17 13 3 3 6 0 231 | 412
X # NUTR 17 15 2 1 1 0 133 | 235
2R VTR 13 10 4 2 1 0 400 | 538
& M INVTR 6 5 0 0 1 0 000 | .167
X 3 VTR 5 5 1 1 2 0 200 | .200
& % INVTR 3 2 0 0 0 0 000 | .333

F— LGt 665 | 567 | 160 91 63 5 282 | .388




2010F RARFT R ARG - (T IRTEST IR - 441 XATRHIE24%

£ HiI F—L% FE | T8 | RIT | TR | BE |RET| #7TF |HEX
e (5) (i 66 63 16 12 1 3 254 | 288
& M # 57 47 7 6 6 0 149 | 298
%K % 53 48 8 6 4 0 167 | .245
N i 51 45 7 2 2 0 156 | .255
1T~ % 50 44 9 0 7 0 205 | .300
& H # 50 41 5 0 0 0 122 | 280
BR % % 49 42 5 4 1 0 119 | 245
==IlI| * 33 32 6 3 0 0 188 | 212
E H &3 20 15 6 1 0 0 400 | 550
* H # 17 15 3 0 1 0 200 | 294
1T} % 15 12 6 8 1 3 500 | .600
g # 15 12 1 1 0 0 083 | .267
B i &4 13 10 2 1 1 0 200 | .385
% IR # 13 11 2 1 2 0 182 | 308
A ) (i 13 11 1 0 1 0 091 | .231
= B # 8 7 1 1 0 0 143 | 250
ok (i 7 6 4 1 1 0 667 | 714
(e * 6 5 0 0 0 0 000 | .167
% % 5 5 2 0 1 0 400 | .400
4 th & 5 5 0 0 0 0 .000 | .000
B IR & 5 4 0 0 0 0 .000 | .200
N = * 3 2 0 0 0 0 000 | 333
s 3 (i 3 3 0 0 0 0 .000 | .000
B 1% 1% 1 1 0 0 0 0 .000 | .000
F— LGt 558 | 486 91 47 29 6 187 | 292




2010 FE R IRITEAIE (X 2 TIAPANT FREFTE 1421 (7/26 B I D 1=6h) XITE#IE224

£ HiI F—L% FIE | T80 | R3T | TR | BE | KRS T |HEBFR
7E F2iT 75 58 14 10 15 1 241 | 413
B E F2iI 62 53 11 5 2 0 208 | .323
== F2iT 62 47 6 5 7 0 128 | .339
£ H F2iI 61 49 10 7 5 0 204 | .361
= I F2iT 56 49 12 8 4 0 245 | 339
AI(R) F2iI 51 42 9 3 1 0 214 | 353
it F F2iT 50 36 7 3 1 0 194 | 420
i FziL 46 35 6 3 5 0 171 | 370
a8 FziL 43 35 9 8 5 1 257 | .395
A (£) FziI 37 31 11 7 5 0 355 | 459
7 ® F2iT 15 12 3 1 0 0 250 | .400
B W F2iT 12 10 0 0 0 0 000 | .167
F K FziL 8 8 2 1 0 0 250 | .250
e 2T 7 5 1 0 0 0 200 | 429
& F2iT 6 6 2 0 0 0 333 | .333
B # F2iT 5 4 1 0 0 0 250 | .400
I8 FziL 5 5 1 0 0 0 200 | .200
= KN F2iI 5 3 0 0 2 0 .000 | .400
S FziL 4 3 1 2 0 0 333 | 500
oA F2iI 3 3 1 0 0 0 333 | .333
AR GE) F2iT 3 1 0 0 0 0 000 | .667
B F2iI 1 0 0 0 0 0 - 1.000
F— LGt 617 | 495 | 107 63 52 2 216 | 371




2010 ARITE G - 21— RXTHTEITHE 46 X$TEHIIEI24

£ HiI F—L% FIE | T80 | R3T | TR | BE | KRS T |HEBFR
A 23— 74 61 13 9 9 1 213 | .351
#® | 43— 61 49 11 6 10 0 224 | 377
B OB A43— 58 45 8 6 2 1 178 | .362
| X 43— 57 46 19 13 5 1 413 | 526
B % 23— 52 35 6 2 0 0 171 | 442
* [ 43— 48 36 10 3 5 0 278 | 458
PR () 243— 43 39 15 8 3 0 385 | .442
A 43— 33 23 6 2 2 0 261 | 485
oA A43— 29 24 5 7 3 0 208 | .345
o 43— 26 19 4 4 1 0 211 | 423
F [ 243— 24 20 4 1 0 0 200 | .333
& H 243— 20 14 4 3 0 0 286 | .500
%2 " A43— 18 16 4 7 0 0 250 | .333
E | 43— 15 13 4 1 2 0 308 | .400
& A43— 14 9 2 1 2 0 222 | 500
m =R A43— 7 5 0 0 0 0 000 | .286
= A43— 6 6 1 0 2 0 167 | .167
E H 43— 6 5 0 1 1 0 000 | .167
a7 K A43— 5 4 3 1 0 0 750 | .800
At (E) A43— 5 5 2 0 0 0 400 | .400
(U A43— 4 3 2 1 0 0 667 | .750
R B A43— 4 3 1 0 0 0 333 | 500
M= A43— 4 3 1 1 0 0 333 | 500
B 5 A43— 3 2 1 0 0 0 500 | .667
B/ AAL3— 2 2 1 0 0 0 500 | .500
* H A43— 2 2 0 0 0 0 000 | .000
A 23— 2 2 0 0 0 0 .000 | .000
%Z H A43— 2 2 0 0 0 0 000 | .000
STl A43— 1 1 0 0 0 0 .000 | .000
AR(K) 23— 1 1 0 0 0 0 .000 | .000
& 23— 1 1 0 0 0 0 .000 | .000
WA E) 23— 1 1 0 0 0 0 .000 | .000
F— LGt 628 | 497 | 127 77 47 3 256 | 411




2010 F BRAFTE R - PSS THRIRIRESTE 42 XATEHIE228

£ HiI F—L% FIE | T80 | R3T | TR | BE | KRS T |HEBFR
1T KPR 65 58 16 5 4 0 276 | .354
X & KR 56 48 12 9 1 0 250 | .357
AR #F KB 54 42 18 7 8 1 429 | 556
E 5 ESIPNI 44 39 12 3 4 0 308 | .386
X T PN 39 35 13 12 4 1 371 | 436
AR KR 37 32 11 3 7 0 344 | 432
hoE KR 34 27 6 5 2 0 222 | .382
bus #F KRB 30 26 5 3 0 0 192 | .300

it H KB 28 24 4 1 1 0 167 | .286
% H KR 26 23 3 2 2 0 130 | .231
% KR 24 22 6 1 0 0 273 | 333
T H KR 24 20 3 0 0 0 150 | .292
F L KB 21 19 4 3 0 0 211 | 286
Fart KR 19 18 6 2 3 0 333 | .368
7 iR KR 18 17 3 2 1 0 176 | 222
i ¢ KR 3 2 1 0 0 0 500 | .667
g 5 KR 3 2 1 1 0 0 500 | .667
I # KR 3 3 1 0 0 0 333 | .333
iz R KR 3 3 0 0 0 0 .000 | .000
B W KR 3 3 0 0 0 0 .000 | .000
h H KR 2 2 0 0 0 0 .000 | .000
N KB 1 1 0 0 0 0 .000 | .000
F— LGt 537 | 466 | 125 59 37 2 268 | .365




2010 RIEITEBIE - A RRYTAVI TREITE 441 XITHEHE224

£ HiI F—L% FE | T8 | RIT | TR | BE |RET| #7TF |HEX
NA(E) INARR 64 57 17 9 7 1 298 | 375
#F Lt INARTR 59 52 13 6 11 0 250 | .339
izle s INARR 59 52 13 3 3 0 250 | .339
E 2 N RTR 57 43 13 4 16 0 302 | 474
B K INARR 57 44 10 3 4 0 227 | 404
= N N RTR 56 46 10 5 11 0 217 | 357
& K INARR 53 48 17 8 10 0 354 | 415
s N RTR 49 42 12 9 2 0 286 | .388
JNA(R) INARR 46 39 9 4 2 0 231 | .348
B & INARTR 25 23 7 0 1 0 304 | .360
¥ H NARR 22 21 5 4 3 0 238 | 273
B O INARTR 15 10 1 0 0 0 100 | .400
N BE INARR 8 5 2 2 4 0 400 | 625
DV N RTR 8 7 1 0 0 0 143 | 250
PR INARR 7 5 0 0 0 0 000 | .286
w H INARTR 5 5 2 0 0 0 400 | .400
F B N RR 4 3 2 1 1 0 667 | .750
Ao N RTR 4 4 0 0 0 0 .000 | .000
T = INARR 4 3 0 0 0 0 000 | .250
& il N RTR 3 3 0 0 0 0 .000 | .000
# # N AR 2 1 0 0 0 0 000 | .500
A & INARIR 2 2 0 0 0 0 000 | .000

F—LEt 609 | 515 | 134 58 75 1 260 | .374




2010 ARITE R -\ SHAATIHRTEITRE 441 (8/16FRELBEDT-8) XITHEHIE264

£ HiI F—L% FRE | T8 | =¥T | TR | BE ([ KREBIT| TF |HEXE
it i INTHAR 83 67 26 21 5 0 388 | .506
it 8 INSHEAR 82 65 19 13 5 0 292 | 439
v INGHEAR 68 57 22 18 3 1 386 | .485
AR+ () INSHEAR 53 36 16 8 19 0 444 | 623
g INGHEAR 45 32 12 10 4 1 375 | 556
g H INGFAR 37 37 9 9 0 0 243 | 243
2 K INGHEAR 33 25 9 12 0 1 360 | 515
I INSHEAR 33 28 6 6 2 1 214 | 333
Al i INGHAR 32 27 4 9 1 1 148 | 281
T % INSHEAR 30 27 8 1 1 0 296 | .367
5 H INGHAR 23 21 3 4 0 0 143 | 217
R Kk INSHEAR 21 18 8 8 0 1 444 | 524
= R INGHEAR 21 19 4 0 3 0 211 | 286
E R INSHEAR 19 16 4 2 2 0 250 | .368
i & INGHEAR 18 12 3 2 0 0 250 | 500
* H INSHEAR 16 12 3 0 1 0 250 | 438
R (f) INGFAR 13 8 3 2 0 0 375 | 615
R T INGHEAR 12 12 1 0 1 0 083 | .083
1T~ INGHAR 11 10 3 1 1 0 300 | .364
B INSHEAR 11 11 3 4 0 1 273 | 273
% H INGHAR 10 10 1 0 0 0 100 | .100
E A INGFAR 6 6 2 2 0 0 333 | 333
B R INGTAR 5 4 1 1 1 0 250 | .400
N & INGFAR 5 5 0 0 2 0 000 | .000
& M INGTAR 4 4 2 0 0 0 500 | .500
T #& INSHEAR 3 1 0 0 0 0 000 | .667

F— LGt 694 | 570 | 172 | 133 51 7 302 | 427




2010 F R ARITERIE - S B CircleBREFTE : 441 (10/25 B fED1-6D) XITHEHIE194

£ HiI F—L% FIE | T80 | R3T | TR | BE | KREH| 1%
T H# steh 61 48 15 11 5 1 313
& H gt EF 59 47 15 5 9 0 319
& steh 59 51 11 3 1 0 216
HF sth 56 4 2 0 2 0 049
b= R 52 46 9 3 1 0 196
#® H gt EF 49 47 10 9 1 0 213
H & thE 38 35 8 4 6 0 229
B E sth 37 32 4 5 2 0 125
£ ith thE 37 34 4 1 0 0 118
o th 21 14 3 0 0 0 214
X H steh 20 13 1 3 0 0 077
z % sth 14 12 4 5 3 0 333
& R 13 13 3 1 0 0 231
% ¢ Fagaslss 11 11 2 1 1 0 182
izl gt & 6 4 1 0 0 0 250
A sth 6 6 1 1 0 0 167
X # Fdaslad 5 5 0 0 0 0 .000
= K gt EF 2 2 1 0 0 0 500
te £t & 2 2 0 0 0 0 .000

F— L5t 548 | 463 94 52 31 1 203




2010 RICITERIGE /LT UoTWT HIREITE 421 XITREHIE174

£ i F—L% FE | T8 | RIT | TR | BE |RET| #7TF |HEX
% IR WFH 78 67 20 10 25 0 299 | .397
F 5 WFH 71 59 15 12 2 0 254 | .380
B K WIH 52 37 7 6 0 0 189 | 423
57 WA 50 37 8 6 4 2 216 | .420
e WIH 48 38 8 5 4 0 211 | 375
a8 % WA 48 35 5 6 3 0 143 | 375
oA WIH 46 41 6 1 3 0 146 | 239
g K W& 44 35 11 10 2 0 314 | 455
xR WIH 44 29 5 5 0 0 172 | 455
A (&) W& 37 33 3 2 1 0 091 | .189
# T WIH 27 21 1 1 0 0 048 | 259
N WA 25 24 9 8 0 1 375 | .400
5 7 WIH 21 15 7 2 1 0 467 | 619
£ W WA 16 15 1 0 0 0 067 | 125
N Bf WIH 9 7 1 2 1 0 143 | .333
MEM WA 3 3 2 0 0 0 667 | .667
= [ WIH 3 2 1 0 0 0 500 | .667
F— L5t 622 | 498 | 110 76 46 3 221 | 376




2010 SRR ITEE R - E K iMetal CatsIF1TEITRE 461 XITHEHIE194

£ i F—L% FE | T8 | RIT | TR | BE |RET| #7TF |HEX
/NI S Metal 69 57 16 9 10 0 281 | .406
% IR Metal 69 56 13 5 10 0 232 | 377
/NI Metal 65 54 11 6 0 0 204 | 338
i Metal 63 49 1 11 10 1 224 | 397

o B Metal 59 45 8 9 3 0 178 | 373
=\ Metal 53 43 13 7 4 0 302 | .434
w H Metal 53 39 9 5 11 0 231 | 434
/N H Metal 38 29 4 3 2 0 138 | .342
# E Metal 37 25 10 3 5 0 400 | 595
K W Metal 36 26 5 5 1 0 192 | 417
[R5 Metal 36 21 3 2 2 0 143 | 500
|5 Metal 20 19 6 1 3 0 316 | .350
E 2 Metal 16 14 4 3 0 0 286 | .375
i Metal 1 10 3 2 1 0 300 | .364
o Metal 9 9 2 1 2 0 222 | 222
HiE (%) Metal 6 6 1 0 0 0 167 | .167
# B Metal 4 3 1 0 0 0 333 | 500
1T Metal 3 3 0 0 0 0 .000 | .000
=] Metal 2 2 0 0 0 0 .000 | .000
F—LEt 649 | 510 | 120 72 64 1 235 | .399




2010 RIITERIE - EvT ov—IMREITRE 44 XITHEHEIE 1/2

£ HiI F—L% FRE | T8 | =¥T | TR | BE ([ KREBIT| TF |HEXE
1T]=: Evy 74 62 21 7 14 0 339 | 446
TE Evs 66 53 9 13 0 0 170 | .333
m|oE Evy 57 44 8 7 6 0 182 | .368
B X Evy 51 42 13 7 6 0 310 | 431
7 ® Evs 47 37 6 4 1 0 162 | .340
moF Evs 44 35 5 3 6 0 143 | 318
FiI Evs 38 31 5 6 0 0 161 | 316
nsR) Evs 26 22 4 3 6 0 182 | .308
&R (2) Evs 25 17 3 2 0 0 176 | .440
/NI Evs 23 20 6 5 7 0 300 | .391
/NI S Evs 17 12 2 1 0 0 167 | 412
nsE) Evs 15 13 5 1 2 0 385 | 467
ML) Evy 15 12 1 1 0 0 083 | .267
w H Evs 13 8 2 2 1 0 250 | 538
FHL(FD) Evy 12 12 5 3 3 0 417 | 417
IR () Evs 11 7 4 1 1 0 571 | 727

17 Evy 10 9 4 0 1 0 444 | 500
B K Evs 7 6 1 0 1 0 167 | 286
I | Evy 7 6 0 0 0 0 000 | .143
R Ewvs 6 5 2 2 1 0 400 | 500
& 0O Evs 6 6 0 0 1 0 .000 | .000
E H# Evs 4 3 2 1 0 0 667 | .750
1T Evy 4 4 0 0 0 0 .000 | .000
R Evs 4 3 0 0 1 0 000 | .250
g t Evy 3 1 0 0 1 0 000 | .667
ol 54 Ewvs 3 3 0 0 0 0 000 | .000
B A Evs 3 3 0 0 0 0 .000 | .000
# Ewvs 3 3 0 0 0 0 000 | .000




2010 RIITERIE - EvT ov—IMRTEITRE 44 XITHEHEIE 2/2

£ HiI F—L% FRE | T8 | =¥T | TR | BE ([ KREBIT| TF |HEXE
/N GRD Evs 2 2 1 0 0 0 500 | .500
a Evs 2 2 1 1 0 0 500 | .500
* & Evs 2 2 0 0 0 0 .000 | .000
o Evs 2 2 0 0 0 0 000 | .000
ff W Evs 2 2 0 0 0 0 .000 | .000
(1T N Evs 2 2 0 0 0 0 000 | .000
hN R Evs 2 2 0 0 0 0 .000 | .000
= I Evs 2 2 0 0 0 0 000 | .000
Al B Evs 1 1 1 0 0 0 1.000 | 1.000
& Evy 1 1 0 0 0 0 000 | .000
m A Evy 1 1 0 0 0 0 .000 | .000
F— L5t 613 | 498 | 111 70 59 0 223 | .369
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£ HiI F—L% FRE | T8 | =¥T | TR | BE ([ KREBIT| TF |HEXE
B H J7iLay 49 48 12 4 8 0 250 | .265
B (#8) J7iLay 39 34 10 8 0 0 294 | 385
NIAE) J7ILay 31 26 8 1 5 0 308 | .419
% B I7ILay 27 22 8 4 1 0 364 | .481
#mE J7ILay 27 19 6 8 4 1 316 | 519
& IB J7iLay 26 21 9 7 8 1 429 | 538
Z B I7ILay 23 19 9 4 6 1 474 | 565
& R J7iLay 23 17 5 4 3 0 294 | 478
LNV J7iLay 23 20 5 7 1 0 250 | .348
45 [ J7iLay 23 21 5 0 0 0 238 | .304
7 J7iLay 21 20 4 4 0 1 200 | .238
& & J7iLay 21 16 3 3 2 0 188 | .381
T o®m J7iLay 19 13 5 4 0 0 385 | 579
& A I7iLay 19 16 5 2 2 0 313 | 421

= J7iLay 19 14 4 1 1 0 286 | 474
B F) J7iLay 19 15 2 0 2 0 133 | 316
R ih J7)Lay 17 14 3 1 0 0 214 | 353

3] J7iLay 13 13 2 3 0 0 154 | 154

1% J7iLay 13 8 1 0 0 0 125 | 462
%o I7iLay 12 11 3 3 1 0 273 | 333
X H J7iLay 12 10 2 3 0 0 200 | .333
% B I7iLay 12 1 2 2 1 0 182 | 250

R J7iLay 11 10 2 0 0 0 200 | 273
& K I7iLay 10 8 4 4 0 0 500 | .600
F H J7iLay 10 7 1 1 0 0 143 | 400
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£ HiI F—L% FE | T8 | RIT | TR | BE |RET| #7TF |HEX
#t J7)Lay 9 9 3 3 0 0 333 | .333
& B Z7ILay 9 7 2 1 1 0 286 | .444
A ' J7I)Lay 9 9 2 1 1 0 222 | 222
R H I7ILay 9 9 1 2 0 0 A1 | A
E K J7)Lay 8 8 6 3 0 2 750 | .750
% IR I7ILay 8 7 4 3 1 0 571 | 625
# [ I7ILay 8 7 0 0 0 0 000 | .125
E R J7ILay 7 4 2 2 0 1 500 | .714
(U5 I7ILay 7 7 2 0 0 0 286 | .286
# W I7iLay 7 7 1 1 0 0 143 | 143
zZ H I7ILay 7 5 0 1 0 0 000 | .286
4B (R) I7ILay 6 5 1 0 0 0 200 | .333
A£EB(&) I7ILay 6 6 1 1 0 0 167 | .167
23V I7ILay 6 4 0 0 4 0 000 | .333
X # J7ILay 5 3 1 0 0 0 333 | .600
E % J7iLay 5 4 1 1 0 0 250 | .400
&N I7ILay 5 5 1 0 0 0 200 | .200
®w M| I7IILay 5 3 0 0 0 0 .000 | .400
xR O J7)Lay 3 1 0 0 0 0 000 | .667
% H I7ILay 2 2 2 0 0 0 1.000 | 1.000
B )l I7ILay 2 2 0 0 0 0 .000 | .000
= I7ILay 2 1 0 0 0 0 .000 | .500
T A J7ILay 2 2 0 0 0 0 .000 | .000
K I7ILay 1 1 1 0 0 0 1.000 | 1.000
+ M@ I7ILay 1 0 0 0 0 0 - 1.000
F— Lt 658 | 551 151 97 52 7 274 | 392
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£ HiI F—L% FE | T8 | RIT | TR | BE |RET| #7TF |HEX
i & Lyk 58 42 7 7 2 1 167 | .397
T # Lk 57 46 6 5 8 0 130 | 298
= H Lk 55 50 13 2 3 0 260 | .327
T Lk 49 4 7 5 4 0 171 | .306
B I Lk 48 37 10 9 7 0 270 | 438
& M Lk 44 37 7 4 5 0 189 | 318
= & Lyl 39 34 7 1 2 0 206 | .308
1TJ: N Lk 30 23 5 2 4 0 217 | 400
% B Lyk 27 26 3 1 1 0 115 | .148
X & Lk 25 23 4 5 1 0 174 | 240
B M Lk 19 18 4 1 3 0 222 | 263
mia Lk 19 16 2 0 2 0 125 | 263
£ Lk 18 13 1 2 0 0 077 | 333
HiFH Lk 14 12 2 4 3 0 167 | .286
7 i Lk 13 8 2 1 0 0 250 | 538
# #& Lybk 7 6 1 3 0 0 167 | 286
h B Lyk 7 7 0 0 0 0 .000 | .000
Ba] & Lybk 5 4 1 0 1 0 250 | .400
E-3 Lk 5 4 1 1 0 0 250 | .400
B HF Lk 5 5 1 0 0 0 200 | 200
7 1 Lk 4 3 2 0 4 0 667 | .750
CRES Lk 4 4 2 1 0 0 500 | .500
& B Lyk 3 3 0 1 0 0 .000 | .000
= M Lybk 3 3 0 0 0 0 .000 | .000
% & Lyk 3 3 0 0 0 0 .000 | .000
& )l Lyk 2 1 0 0 2 0 .000 | .500
# E Lyk 1 1 1 0 0 0 | 1.000 | 1.000
= Lybk 1 1 0 0 0 0 .000 | .000
X # Lwyk 1 1 0 0 0 0 .000 | .000
iz Lybk 1 1 0 0 0 0 .000 | .000
X & Lyk 1 1 0 0 0 0 .000 | .000
7 H Lk 1 1 0 0 0 0 000 | .000
F— LGt 569 | 475 89 55 52 1 187 | 322




